PAPER - 11

EDUCATION
Note : Attempt all the questions. Each question carries two (2) marks.
G@HLY : eréver eflenmés@Ers@Eh el wallssea|b. geubeurarmlh@d @rear®h (2) wdHituearsar.

1.  Which of the following Orthodox (Astik) Schools of Indian Philosophy, is silent on the
issue of existence of God as the ultimate reality?

1) Vedanta 2)  Sankhya
3)  PoorvaMimansa 4) Nyaya

Gereumd sl @uurimear (Astik) @bHw Quwuiwe verafiseafier erhg, Gouwiamwulled &L e6r
@@Ly uPHHE FapUILIL T enSlLITs 2 cTerg)?

1) CGeusmpsid 2)  sTewdwid
3)  yfeu OomegDd 4)  Blwmor
2.  Which world is real according to idealists?
1)  Material world 2)  Spiritual world
3)  Physical world 4)  Humanistic world

SBSEOESTUTETTEHETE HHSSHILILIG THS 2 DEHLD 2 GRTENLOWITES)?

1)  Qummer 2 esb 2) enbs 2 @sb
3) 22L& @sb 4)  wafgeilue 2 &b
3.  Idealists believe that ————————— is more important than material nature.
1) Man 2)  God
3)  Soul 4)  Sage
SMHSHWOTTSHET 6Ths @wievL] ummener el (p&Hluid eranm HLOLE DMTEHET?
1)  walger 2)  sLaeyer
3)  yemom 4)  afleur

4. Pragmatism lays a special stress on the value of .
1)  experimentation 2)  spiritualism

3)  materialism 4) empathy

BevL(pern ———— g wliou sHEng.

1)  ufiGsrgemensar 2) yanfsb

3)  Qummer (WpFereuTHDd 4)  u§sTHSTUD
5.  The naturalists advocate freedom in

1)  activity 2)  education

3)  preaching 4)  views

Quinens aumdlser eTdled &gBSlTD Couam(Hd eremm eumsl(h&lemmen?
1) pLeugsmns 2)  soai
3)  Gunsenen 4) Tl dlser
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6.  Schools are basically social institutions as they
1)  Preserve and instill the values of our culture in future generations
2)  Suggest ways and means for social progress
3)  Suggest solutions to social problems
4)  Suggest ways for social mobility

uaTatlser epss Hlmielammisernad &mHsLLHeug eblameafld =g

1)  seorssmsmsl UTEISTSS THTsM0 FHSSWLIMHESES (sThEHng)
2)  saps panCarhmsSnsrar alflsamers Clamed ng)

3) g GArssmanss@nsstear ST smens QsTH&H g

4)  sops paTelDaETEr eUGMETS HHEMS)

7.  Which is correctly sequenced hierarchy of social group?
1)  Nation — Race — Class — Tribe — Family
2)  Family — Class — Tribe — Race — Nation
3) Family — Tribe — Race — Class — Nation
4)  Family — Race — Class — Tribe — Nation

sflwrer grm cuflensufled 2 arer Feps auELiY

1) Ggab - @anbd - au@liy — UPRIGG — GHLHLULD
2)  ©GWLUD - uELY - UPEIGlY. — @erd — Ca&ib
3)  GObhUbD - LPEIEGY — @erd — augliy — Casbd
4)  GObubD - @erd — U@L — LPEIGlg — Ca&Lb

8.  Which of the following is not a factor for social change in India?
1) Caste 2)  Regionalism
3) Language 4)  Census

EDSETLCUDMIET 6T FELPS LOTMISHEEEE STTERTLD B)danev?

1) erd 2)  rCGse amiy
3)  Quomg 4)  w&seT (sTanss Sanébls(H UL
9.  Which of the following chains represents the change processes underlying educational

system of Free India?

1)  Psychological change — Social change — Political change — Educational change
2)  Political change — Social change — Psychological change — Educational change
3)  Social change — Psychological change — Political change — Educational change
4)  Educational change — Social change — Psychological change

EpsaL QsrLsafle ersQgTLm sspHr QbSHwmeler soedll SienwlienLs GnEELD?
1) 2 areflwe wrHmb — Feps LTHDHLD — HFF W6 IHOD — Seedluflwied wTHmLDd
2)  Srdlwé wrHDLD — Feps IHDHLD — 2 ereflwie) LTHOLD — Sevadudlwe WTHHLD
3)  Feps LIHOD — 2 eTalwed LIHPD — HFHWE LIHPD — SN IHYD
4)  soellulwed THMLD — Feps LTHDLD — 2 6TeN e LIHOD — HFHWE LIHOD
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10.

11.

12.

13.

‘Cultural Lag’ is the term used by
1) Ogburn 2)  Pyne
3) Weber 4)  Marx

sendsmy Ca&aD ererm GlFme wmrmed LweruBié sl L g ?
1) ysummern 2)  evuer

3)  Qeuliurm 4) A&

The great sociologist who held the view that “education doesn’t bring about social
change; rather the social change results into an educational change” was

1)  McDougal 2)  Aristotle

3)  Durkheim 4) Dewey

‘g6l Feps LIHDSMSE CETET(H GUFTE WIHTE Fepd LIHOD Ho6d LIHNSMmS ClsTe(h
QU(BLD” eTeumd dnPlwieum

1) wsEse 2)  flevLmiigd

3)  Lidmantd 4)  @BuW

Religion is an institution because, it

1)  teaches religion to people

2)  discharges an important social function
3) 1mparts moral education to people

4)  gives respect to the individual in society

FLOWILD 6( Hlmieueid erllamemmmed, g

1) wssE@EEE soLsmss sH9sHDS)

2)  ws&dlw sepss QewdurlamLg smdng

3)  wEEEEE RYSs Uphlows smEns)

4)  FpssHe @mealmsE willwramgamws Csrhsdng)

Maturation depends on:
1)  environmental factors 2)  intelligence factors

3)  genetic factors 4)  facial factors

WPITEEWML_F60 TnSF FTMHSS)?
1) Gy s ellapwnbiser 2) il e ellagwhiser
3) Uy FMTHSS 4)  WsbETT 6l agWnigeT
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14.

15.

16.

17.

Appropriate use of language to communicate involves
1)  syllogism 2)  pragmatics

3) rationalism 4)  idealism

silwrer Qurflepwls LweauhisH QgrryQarareug) aransd CararT(heTerg)?
1)  Qsr@ly 2)  uwerereys QETETen S
3) uUESSHe| s 4)  FmEHE QareTens

Commitment without exploration is called
1)  identity diffusion 2)  moratorium

3) identity foreclosure 4)  1identity achievement

erang b UMCFTE ST 2 erenLowmil @ mLLIg)
1) el wmerl Lyeud 2) gL aumrenal

3) SOLWMETENS L5 L6 4) DI L_WITET L6

Tendency to perceive a pattern as a whole is known as
1) field dependent 2)  field independent
3) totally independent 4)  impulsive

R NSNS (LP(LPENLOUITE 2 awT(HLD SHmei 61g)?
1) QL sripsg 2) QL smsg
3) (PPENLOWITE TENSWLD FTTTSI 4) o Leanqurs pibe®sEh Hmer

Teaching children with disabilities in regular classes for part or all of their school day
1s called

1)  regular education
2)  least restrictive placement
3) mainstreaming

4)  full inclusion

UG BrlseaflGem ojeg (ppanowins Lieet BTl gealCavm @enmueTer LomemTeu s @@ LmL_Lb
bL$gleug) eramLig)

1) gumstar sdeiipann

2) @ODHSULE SLLETET @)L eUaLoe)

3 eeuwsuu(ssiE®

4)  @areumrLb (ppamwrs Cargse
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18.

19.

20.

21.

Which of the following types of sampling involves the researcher determining the
appropriate sample sizes for the groups identified as important, and then taking
convenience samples from those groups?

1)  Proportional stratified sampling
2)  Quota sampling

3)  One-stage sampling

4)  Two-stage sampling

Epsan orhg wrHfluded <y rmugflurert rHUBLCUTE ehg LIAHM e Hirewrudspmi
Qg sam(Hahgl alsHsECann LIS @Qbs G el erH&SmmT.

1) fgreny 2iH&E wri 2) #5850 wrdH

3) @ sl i 4)  @uaw(h sl ol

Action research is ordinarily concerned with problems

1)  Of general nature

2)  Constituting universal truths

3)  Are of immediate concern and call for immediate solutions

4)  Have long-range implications

Qewed Wlie| eTamg) FTHTIanTL INATFFMmans:@hsE AsHmD CFQISHIS DS eTarLIg)
1) QurgejemLew @iy

2) 2 esemeilil 2 ETELOSEMET 2 T TSHEIS DS

3)  eLang ey QsrHlusHE 2 s Sng

4)  Bangrsssews ahuOsaISng)

Which of the following is not measured by the T.A.T. test?
1)  Personality needs 2)  Emotions

3)  Personality adjustment 4)  Reasoning ability

T.AT. Gangenar epeod SPEHERTL 6THMET SfaTedllL (LplgWimg)?
1) <epaw Caamaeuser 2)  weanbleupssl
3)  EHLD AeFTLILY 4)  smyew GFwedperr

On the spot research aimed at the solution of an immediate problem is called
1)  Survey research 2)  Fundamental research

3)  Action research 4)  Pure research

<ps QLsHDEiu < rrusfuler @hsCarar Grssmans@rs@ o Lary Siey QsT@HLliLg)
GTEUGUTM SeMLP&ESLILIHNE D)

1) #1Geu <y rmigs 2)  Sigliuerl < rmigs

3)  Cewe <y rmigs 4)  gnu <y rraEs
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22. Which type of validity refers to the degree to which you can infer that the relationship
between two variables is causal?

1)  Internal validity 2)  Population validity
3)  Ecological validity 4)  Statistical conclusion validity

srrensdler olgliuamLulled @ wrilsErsE @aGu 2 dmer 2 nay (pepmudler BLOLISSSETEnLD

GHluUg)
1) o&memminBg (pevm (Pl 2)  wa&ser QgTens (pam (Lplg-6]
3 Gphlow o ey 4)  yeraflue e opigey

23. Which of the following is the researcher usually interested in supporting when he or
she is engaging in hypothesis testing?

1)  The alternative hypothesis

2)  The null hypothesis

3)  Both the alternative and null hypothesis

4)  Neither the alternative or null hypothesis

smgCamer  Corgameruied < rmiusflurart SDSSML  THS  (PEODEOW A TEUSTHIL 6T
e mieum

1) oo smECsmer

2)  pe s@mgGIGHTET

3)  wmhm wHmbd Ceupm SmHGIGSTET

4 orpmy smeCardr LHmIb Qeuhm He HMmHECSTET Gdama

24. Which of the following terms describes the ability to generalize from the sample of
individuals on which a study was conducted to the larger target population of
individuals and across different subpopulations within the larger target population?

1)  External validity
2)  Population validity
3)  Ecological validity
4)  Temporal validity

saluul L wrdlflsamer GuUTgie el amownss < puie| Galubd Curg Cuflu waser Ggmangude
safl putsefler M wHmib genen waser wrHfaar SpassaTL crsamarn @GNad ng)?

1)  Qeuefl GQaeogyig Blene

2)  waser smens g aiUig Hlane

3)  Gpblae Ceogilg bl

4 Hrpsropp Qsdgig Haw
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25.

26.

27.

28.

What does not form a part of the Noble Eight-fold path of Buddhism?
1)  Right Livelihood 2)  Right Effort

3)  Right Speech 4)  Right Direction

UssMen eThs 2 aans 6Tl (h LB LTensudlen ep(h LGS W TS D& (PIgimg)?
1) sflurer eumpeunsmyb 2)  sflurer pwuné

3)  sflwuren Cués 4)  gflumer Fanguldied

In which temple did Ramanuja teach?
1) Madurai 2)  Srirangam

3) Mamallapuram 4)  Somanathapura

orbg Gareiladled FroraymT &HINSSTT?
1) DGl 2) LIH RIS

3)  mweeL D 4)  GsmoprgLrb

Which edible is not mentioned in the Rigveda?
1) Apupa 2)  Curd

3) Salt 4) Yava
eThE Feniowier Qummer Mg CoussHler @L b Cupeildeane?

1)  ouur 2) sl

3) ey 4)  wmeur

In Indian Philosophy ‘pramana’ means
1) oath 2)  measurement

3)  assurance 4)  source of knowledge

@QBHW HS55i6uSE e [GATOTERTD GTETLISET A THSLD
1) 2 m$Glompl 2) <jerei(h)

3) 25dlyaunsbd 4)  siflejepeomiser
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29.

30.

31.

32.

Marxism is otherwise known as

1)  Dialectical Materialism 2)
3)  Experimentalism 4)
ITEHFSms TG <ENLPSHSEITLD.

1) Qumdlue Qumrmer (psaeunsbd 2)
3)  Gareumley 4)

Empirical Logicism

Instrumentalism

i@ HTEHSLD

&(mefludlwied

According to Nyaya Philosophy, the means to the highest end of life is

1)  Mukthi 2)
3) Meditation 4)

Blumu s$gleugdlanlg eumpsasuiler 2 WiMhs (Lplg6
D wsd 2)
3) Swrerbd 4)

The institution ceremony of Buddhist education
1) Upanayana 2)
3)  Vidyarampha 4)

Querss seall Flmieuar cSlpm erarLig)
1) e upwerd 2)

3)  elgwmybumr 4)

Sociology of Education is

Self - actualization

Nirvana
erariL(HLD.
& - @QUILSSLD

1Bl eumamTT

Pabbaja

Upasampada

urduggm

© LIFDULIT

1)  An analysis of psychological processes involved in the institutions of Education

2) A study of the society

3)  An analysis of Sociological processes involved in the institutions of Education

4) A study of the primitive society

&06llF Fepsele eTerLg)

1)  s0els gL miseaflgiarer 2 arafle FamnEemaT < Tmilelg)

2)  sFapssmsL LigliLg)

3) 06l salmisailgierer Fepseticd omEemeT 4 TTiIcg)

4)  LPELWTET FpSSemSLI Lilg LILIg)
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33.

34.

35.

36.

317.

The son of a rickshaw puller struggles and becomes an engineer. This is an example of

1)  Social change 2)  Social stratification

3)  Social mobility 4)  Social cohesion

M&FT gl (Hemilan &e Lig &g QUITHumeTyms omnieugl, 6T&MH @ 2 STFeTd
1)  seps wrHobd 2)  Fps AHES
3)  Feps baiTey 4)  Fops Ll (Hged

Which of the following agency regulates education?
1) Temple 2)  State
3)  School 4)  Library

EpsarTLcUDMIET 6T Hedallani e(Lpmi@GU(BSSID e
1) Gsmulbe 2) oS
3)  uaref 4)  mHIOSLD

Which of the following does not specify Max Weber’s concept of social stratification?
1)  Educational Status 2)  Income

3)  Political Power 4)  Social Prestige

r&e el .fler Fops Denliy sHSS DG @euaTsg)
1) sdell flenew 2)  eu(mLmed
3)  Irdlue 555 4)  FUps BSHEVG

Socialization’ is a process by which the individual is adapted to his
1)  Classroom environment 2)  Social environment

3)  Political environment 4)  Cultural environment

FPS QUIDLINGTEATTSE) TG (HEUIT THM (G SHEUMDESE CSTeTeUSTGLD

1) ealuep G 2)  FPEF G
3) sl Glped 4)  FOTFFTT GLPEO

The movement from one social class to another is known as
1)  Social status 2)  Social control

3)  Social change 4)  Social mobility
sepssded o Hlooulldnbg 058 Howse wres)

1) geps Hleve 2)  Fps RUPTEIES
3)  Feps LIHOHLD 4)  Faps pETeY
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38. Higher order thinking processes are located in:
1) frontal lobe 2)  parietal lobe
3)  occipital lobe 4)  temporal lobe

2 wirblene SlbSléE b HFwaum®h erhiGs Denibgieareng)?
1) ey L& 2)  Seulm L&

3)  Yerym wLed 4)  Qppoli QU wLeb

39. The largest part of the human brain is
1)  cerebellum 2)  cerebral cortex

3) thalamus 4)  corpus callosum

weflg epeneruden WOsLIGLMW LGS erg)?
1) GQefNQueeld 2) Qafluged srTOL_&e6v

3)  smwae 4)  ariuev QarGemsb

40. The coating of neuron fibres with an insulated fatty covering is known as
1) sensation 2) feathering

3)  wrinkling 4)  myelination

Bluyrrer @enpanwd sHOludmEGD sass Sreu LGS 6rg)?
1) o e 2) @ng Curem
3) HOHERGSHD 4)  owaCarager

41. Search for mental balance between cognitive schemes and information from the
environment refers to

1) assimilation 2)  equilibration

3) accommodation 4)  adaptation

SIDQYETT (LPEMEET LoHMID @HPedled @ (Hhg HlanL_&@b Qauidaer @ream(H&@n GeaLCu CsHib
<ible] FoBlepadEl G

1) o draumm@ge 2)  phHlemeean

3) @msssbaerense 4)  wIHHECETETERSH60

42, The ability to work with symbols is called
1)  semiotic function 2)  synergistic function

3)  conservative function 4)  signal functioning

@MU GsCarmh Lenilyfluyb e eremig)?
1) Qurele Qswdur( 2) REuibserenn
3)  upewers GEwedum 4) @M Qewdur®
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43.

44.

45.

46.

Stimulus that evokes an emotional or physiological response after conditioning refers
to

1)  conditioned stimulus 2)  conditioned response

3)  neutral stimulus 4)  unconditioned stimulus

SWUMTUHSHSWEGL! LAN @ 2 TTe ST SO 2 L OFTT FleBSMmeT FHLI(HSSID GTeuwTL_ob
1) swurmu@ssliul L grewrL e 2) swriu®SSIULL Fe0kISM

3)  swhlane gewr_eb 4)  SWMTUOSSILULTS SIewTL 60

Voluntary behaviours emitted by a learner are referred to
1)  Antecedants 2)  Operants

3) Consequences 4)  Results

LOTERTEUT&ET STETTS (Wpeneubgl GlFuiuwb QEueum’ (Hé@L Gluwm
1) per pevLGumieug 2) uEGUUETT BLSMSSHET
3)  lewereysar 4)  Wyeyser

Decreasing the chances that a behaviour will occur again by removing a pleasant
stimulus following the behaviour is known as

1)  Type I punishment 2)  Type III punishment
3)  Type II punishment 4)  Type IV punishment

BL&S UL L 96T e GenmULIFnans a0l (hbgl élpeurar gram_amae alleds er(hLiug)

GTEITLIG)|
1) s cuens saTLene 2)  APETDITLD CUENS HERTL Gneu
3) QUL TID eUaNS SETL_anen 4)  BIEISTD CUEMS FEHTLEHE

What is the aim of educational research?

1) Identifying major problems that need to be solved

2)  Searching for the new facts and principles underlying the process of education
3) Identifying the aims of education

4)  Identifying the values that need to be inculcated in the pupils

sevadluflwed <y rmisSluler @&maCsmer eremen?

1) wsdu Grsgameansaman samMbg s5H@E Srey SrarTLg

2) s QFEwOUTHSET FDLHSLTS LW CETETansSEeT OHMILD 2 ERTEnLOSEET <, TISE
3) a6l GN&Camarsamer seLHlsa

4)  wreweurseaflenCuw eueriédsCouamTiq i LY (LPpEDSEMET SeiTL NG
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47. What does view of related research and literature not do?

1)
2)
3)
4)

Provide the researcher with sufficient useful knowledge

Help the researcher in identifying needed problems of research

Make the researcher competent and perfect in doing research

Make the researcher aware of the pitfalls that plagued his predecessors

Qgmrumen <,rmiEs Qalieudlen QosH@ )8 e

1
2)
3)
4)

Cumgomen LwgeTer iMladlener <, FTIEFS WTeTTa@eh&E, elLpkIGE ng)

S IMOESWITETTSET LA TEFFnana e @ STey sTanr 2 Se S g

&S eumupbg O Filwmer prmigs Copbserer

wpenGarmigaflen cuflaamer pymisSwineriser oMlbg Carerer 2 sa|dlng)

48. Who said that “the problem is a proposed question for solution”?

1)  John C. Torensand 2)  J.C. Almak

3)  Fred N. Kurlinger 4)  John W. Best
Grésamens@hé@ Sie erarLigl e perwmAwliul L Cadrell erarLieng dadwieum
1) ggmewndl CLmymen gmen(h 2) .8 ewns

3) G erewr Greflmisit 4)  sgmar LibeTyy,. Quel

49. Which of the following is not relevant to analysis of the research problem?

1

2)
3)
4)

Isolating the variables that are involved in the problem and clarifying their
relationships

Accumulating the facts that might be related to the problem
Attending seminars on research methodology

Proposing various relevant explanations (hypothesis) for the cause of the
difficulty

EDESMTL 6THG epeiT) LAFFFEIGEmaT LGSSTLI6| QFIL FHDg G)eana

1

2)
3)
4)

pssamars@ps@ il wrbsmear saflepblLBSHSH WHNID DHeuDMDéE e ulerer
2 meysemer Ggefle]liLi(hsgise

Yr&genan FDOBSLOTET 2_ETELOSEET &6N556

S TTLES (penDa6T LUHHIL SMHSSTH @Gs6ier LkGCHDHmeD

Sy srgard  ererm  ULCeum  GesmyeLw  elletssmigemer  (perGomBSTT
(smaICamer)

50. Which of the following statements sounds like a null hypothesis?

1
2)
3)
4)

The coin is not fair

There is a correlation in the population

There is no difference between male and female incomes in the population
The defendant is guilty

EPESMTL 6THG epeiTm) Hev& (G Camer Cumammg)?

1
2)
3)
4)

MO0502

BTETID BIWTLILDTETS) i)

&&6ET (sTans Cgmmblane ClsmerL_g)

D&ESET CFHTEnSSH6T 60t LHMID ClLiewT eummed 6rhg CeumLmHib G eena
@hoepeer Hgdleund)
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ROUGH WORK
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